
5Schofield & Sims | Written Calculation: Multiplication 1

Set out these questions yourself to answer them.

13 	 11 × 5 = ? 14 	 44 × 2 = ? 15 	 32 × 3 = ?
T U

×

T U

×

T U

×

9 	 10 	 11 	

×
2 3

2 ×
3 3

3 ×
2 4

2

12 	
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How did I find Step 1? Easy OK Difficult

More practice

Problem solving

17 	 Multiply 13 by 3. 

19 	 Find three lots of £21.

18 	� Jo buys two chocolate bars. Each costs 
33p. How much does Jo pay?

20 	� Each bag contains 43 sweets.  
How many sweets are in two bags?




